NUMBERS AND NUMBER NAMES 1

A. Fillin the blanks by observing the patterns.

1. 55322,55324,55326, , -

0. 45426,45436,45446, ;

3. 10176,12176,14176, /

4. 68344,69344,70344, /

B. Write the number names of the following.

1. 89060
. 28267

. 86004

Z
3
4. 2428]
5. 80025

b % |
K-4

& C. Write the following in figures.

1. Sixty-one thousand and eighty:

2. Fifty-six thousand two hundred and one:: -

s
3
0
9 B
L4
2
§ 3. Eleven thousand and thirty four :
8

1 4. Ninetyihousand eight hundred and six :

' 5. Fortythousand and fifty eight :
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92,024
44,086
8,834

18,232
62,850
74,106
6,219

24,062

. 56,062
12,246
. 13,272
. 8,972

- 24,124

Brain Box

26,124 ==21en1houscnd4r6-+1
+ 2tens + 4 ones.

Il

Il

Il

Il

—_—

ed not
ations for each number. One has

housands + 1 hundred

-
O
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e |lamasixdigit number.

e Ifyoudoublems, | am more than a million

e My hundred thousands digit s eve!

e |amonemore than a multiple © tS.

e Whoaml?

428,361 726,336
652,924 812,766

B. Findthe missing
s 500+40+40 OOO* .LWOO-»_______:AS 347
2. 2,000 + +90+8+20,000= 22,898
3. 6+900+ +920+10,000=19,920
4. 100+ 70+ +6,000+1=16 171
| 5. 5,000 + +20+7+ 30, 000 = 55.127
5 o 430,000 +700+ 7,000 + 2= 37792
. 7. 4+700+ 7 + 0+ 20,000=25704
8. 400 + + 4 + 5,000+ 80 = 95,454

7
B

' The place value of a digit m&'“”“t‘t"fLSdGlE!tﬂil\,d\d by wihvere ftap

the numbes
= XAan _ l‘h:' 1
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FOLLOW THE PATH

-

—_—

E/

Sklp counhng |

4, 653 Q
m55ﬁ|lm'rhe' [ ] _H:
- 5,362 | I l
2,256 2,266 ’
1 382 I Skip counting
' in 10' fill in
4,408 [ e blanks.
4,923 ] '
4, 436 || 4536 I |
Skip counting
in 100's filllin 2,793 |
the blanks. 9 120 J
- 8, 650 J
3, 081
4,920
[3,152
9,569 (
) T
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+ 26892

-

30267]3
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1 There are 3,786 men, 3,672 women
and 1,508 children in a town. Find the
total population of the village. N

2 A child plucked 358 plums from one
iree, 580 plums from the second tree

and 390 plums from the third tree. Find
plums plucked from +

the total number of
the trees.

. Atoy factory manufactured 52, 253 dolls
in January, 62, 510 cars in February and
39, 802 soft toys in March. How many
toys were manufactured in all the three +

months?

s a treasure chestin the

ocean. When he opens it up he discovers

that it is filled with 4,567 gold coins and
2,831 silver coins. How many coins does  +

the chest contain inall?

A scuba diver find

-

-

- ——— -
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